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Two cylinders each with a height of 50 inches are shown.

Which statements about cylinders P and S are true?

Select all that apply.

A.

If x = y, the volume of cylinder P is greater than the volume of
cylinder S, because cylinder P is a right cylinder.

If x = y, the volume of cylinder P is equal to the volume of cylinder S,
because the cylinders are the same height.

If x = y, the volume of cylinder P is less than the volume of cylinder S,
because cylinder S is slanted.

If x < y, the area of a horizontal cross section of cylinder P is greater
than the area of a horizontal cross section of cylinder S.

If x < y, the area of a horizontal cross section of cylinder P is equal to
the area of a horizontal cross section of cylinder S.

If x <y, the area of a horizontal cross section of cylinder P is less than
the area of a horizontal cross section of cylinder S.
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- How many vertices does the polyhedron below have?

a. 8

b. 10
c. 12
d 20
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Find the surface area of the prism below.
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a. 120 units? c. 168 units?
b. 144 units? d. 180 units?
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The figure above shows a pyramid with regular
hexagonal base. The length of each side of the
hexagonal face is 4 units and the height of the
‘pyramid is 7 units. What is the volume of the
pyramid?

A) 353

B) 563

©) 843

D) 1683
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Find the area of a regular hexagon with side length 4 m.

4m

apothem
2 mn—t
a. 83.1m’
b, 24m’
c. 4l6m’
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A square pyramid and a cube have equal volumes.
‘The cube has an edge length of 4 inches and the
‘pyramid has a base side length of 6 inches. What
is the height of the pyramid in inches?
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If the circumference of the base part of cone is
10 centimeters (cm) and the height of the cone
is 8 cm, what s the volume of the cone, to the
nearest cubic centimeter?

A) 18
B) 21
©) 24
D) 32
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In the figure shown above, if all the water in the

rectangular container is poured info the cylinder,
the water level rises from / inchesto (5+x)

inches. Which of the following is the best
approximation of the value of x?

a3

B) 34
C) 38
D) 42
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Cytinder T

a0

Circumference = 50 Circumference =36

‘The figure above shows two cylinders that are
rolled up from a poster 36 centimeter (cm) wide
and 50 cm long without overlap. For cylinder I,
the height is 36 cm and the circumference of the
base is 50 cm. For cylinder IL, the height is 50 cm.
and the circumference of the base is 36 cm. Which
of the following is closest to the difference of
volume between the two cylinders, in cubic
centimeters?

A) 1,600
B) 1,800

©) 2,000
D) 2,200
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‘The surface area of a cube is 54 square centimeters
(em?) . What is the volume of the cube in cubic
centimeters?
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A cone with a height of 10 cm and radius of

3 cmis 90 percent filled with shaved ice. What
is the volume of the shaved ice, to the nearest
cubic centimeter?
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A grain silo of a bamn consists of a right circular
cylinder capped by a right circular cone. The
heights of the cylinder and cone are represented
by the figure above. If the volume of the grain silo
is 2247 cubic meters, what is the diameter of the
silo, in meters?
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In the figure above, a sphere is inscribed in
acylinder, so that the diameter of the sphere
is the same as the diameter of the cylinder and
the height of the cylinder. What is the value

¢ Volume of the sphere

Volume of the cylinder
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Rebecca 1s loading medical supply boxes into a crate. Each supply box is 1.5 feet tall, 1 foot wide, and 2
feet deep. The crate is 9 feet high. 10 feet wide, and 10 feet deep.

101t

‘What is the maximum number of supply boxes can she pack in this crate?

a. 200 b. 300 c. 450 d. 600
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Find the volume of the figure below. Round to the nearest square centimeter.

25cm

a. 576 cm? b. 785 cm? c. 1440 cm? d. 1963 cm?
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A triangle is dilated by a scale factor of % to produce a new triangle. Which of the following best

describes the relationship between the perimeter of the original triangle compared to the perimeter of

the new triangle?

a. The perimeter of the new triangle is % c. The perimeter of the new triangle is %
that of the original triangle. that of the original triangle.

b.  The perimeter of the new triangle is 3 d.  The perimeter of the new triangle is 9
times that of the original triangle. times that of the original triangle.
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The table shows the approximate measurements of the Great Pyramid of Giza
in Egypt and the Pyramid of Kukulcan in Mexico.

: Height Area of Base
Pyramid (meters) | (square meters)
Great Pyramid of Giza 147 52,900
Pyramid of Kukulcan 30 3,025

Approximately what is the difference between the volume of the Great
Pyramid of Giza and the volume of the Pyramid of Kukulcan?

A. 1,945,000 cubic meters
B. 2,562,000 cubic meters
C. 5,835,000 cubic meters
D. 7,686,000 cubic meters
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In the cylindrical tube shown above, the height
of the tube is 30 and the circumference of the

circular base is 32. If the tube is cut along 4B
and laid out flat to make a rectangle, what is the

length of AC to the nearest whole number?

A) 24
B) 30
© 34
D) 38
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Assume all angles are right angles. What is the area of the figure?

12m

8m

16m 12 m 12m

a. 1536 square meters
b. 408 square meters
c. 360 square meters

d. 102 square meters




